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Read the following instructions carefully.

1. This question paper contains all objective questions.

2. Questions must be answered on Objective Response Sheet (ORS) by darkening the
appropriate bubble (marked A, B, C, D) against the question number on the respective
right hand columns. Each question has only one correct / best answer.

3. All ORS will be processed by electronic means. Hence, invalidation of Answer Sheet
due to folding or putting stray marks on it or any damage to the Answer Sheet as
well as incomplete / incorrect filling of the Answer Sheet will be the sole responsibility
of the candidate.

4. Incorrect answers will carry NEGATIVE marks. 1/3 mark will be deducted for each
Wwrong answer. '

5. Answers without any response will be awarded zero mark. Wrong response or more
than one response will be treated as incorrect answer and negative marks will be
awarded for the same.

6. Write your roll number, name & question booklet number at the specified locations of
the ORS.

7. Use only Black/Blue Ball Point Pen to mark the answers by complete filling up of the
respective bubbles. ’

8. Mobile phones, Calculators, Slide Rules, Log Tables and Electronic Watches with
facilities of Calculator, Charts, Graph sheets or any other form of Tables are NOT
allowed in the examination hall. Possession of such devices during the examinations may
lead to cancellation of the paper besides seizing of the same.

9. Mark the answers only in the space provided. Please do not make any stray mark on
the ORS. "

-~ 10. Rough work can be done on the question paper itself. Additional blank pages are given
at the end of the question paper for rough work.

11. This question paper contains 32 printed pages including pages for rough work. Please
cheek all pages and report, if there is any discrepancy.

. Please handﬂover the ORS to the InVigilator before leaving the Examination Hall.
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PHYSICS
(English Version)
Each question carries 1 mark

Full Marks: 50

1. If F is the force applied on an object at time ¢ represented by F =abr™' +b¢%, then what is
the dimension of 5?

(A) ML2T+4 (B) MLT2
(C) MLT# (D) MLT2

2. The relation between displacement (x) and time (f) can be written as x = ar +bt> —ct>. At what
time the acceleration of the object will be zero? (a, b and ¢ are constants)

(A) 3bc (B) blc
(©) 3e/d (D) b/3c

3. Which vector is perpendicular' to both (3f+f+2l€) and (25—2j+4/€) ?

A

@A) i-j-k ®) 7+ j+k

(C) 8i+16j—-4k (D) None

4. A 2 kg mass hang by a string as shown in adjacent Figure. Value of
the tension T in kg-wt is 45°

Ty
o
) 242 ®) 2
© 2/\/5 D) 2 2 kg-wt

5. Two objects with masses m, and m, rotates at uniform motion in two circular orbits of radius
r, and r, respectively. If both takes the same time to complete one rotation then what will be
the ratio of the angular velocity?*

A) L1 B) 2:1
(C) nin D) rn:n

6. Keeping mass unchanged if the radius of the Earth becomes half then the weight of an object in
earth surface will be

(A) Half (B) Twice
(C) Unchanged (D) Fourtimes
JEN P&C ( 3 )
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7. Temperatures of two liquids are 80 °C and 20 °C. Final temperature became 60 °C after mixing

this two liquids at 8 : 5 mass ratio. Ratio of the specific heat capacities of the two liquids will
be ‘

(A) 8:5 ®) 5:4
(C) 5:8 | D) 4:1

. An object with density d has a weight # in air. If p be the density of air then the actual weight

of the object will be

w w
A A i
@ = ® 725
d
w
C W : D) s
1+~
d
9. Excess pressure inside a thin soap bubble of radius of curvature R is (T = surface tension)
o 2 87
@ = ®
o X T
© 3 D) 4z
10. Adjacent figure shows the temperature variation in Fahrenheit scale vs.
Celsius scale of an object. Value of g will be
a5 49
A) tan™' = tan= —
(A) tan 9 (B) 3
(©) 30° (D) 45°
OC _)
11. Adjacent figure shows the V - T graph of an ideal gas for two values .
of pressure p; and p,. Relation between p, and p, T l
y2
\Y
(A) pr=p, ®) pr,>p / /
© p>p, (D) None :
T —
12. Change in volume of a solid (linear expansion co-efficient o) with initial volume V for increasing
the temperature Ar will be
(A aVAt B) 2aVAt
(C) VAt D) 3aVAt
JEN P&C (4)
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14.

LS.

16.

17.

18.

. Dimension of thermal conductivity (k) is

(A) MLT0™! ®B) MLT 07!
(C) MLT™® ©) MT 39!

Velocities of four molecules of a gas are respectively 1 km/s, 2 km/s, 3 km/s and 4 km/s. The
rm.s velocity of those four molecules of the gas will be,

(A) 2.5km/s ®) 15 km/s
(€) V7.5 km/s D) 10 km/s

Time period of a simple pendulum on the Earth’s surface is T}. Time period becomes T, at a
height R from the Earth’s surface (R = Earth radius). Relation between T)and 7, is

(A) T,=2T, B) I, =27
©) L =T, D) T, =47

y= 2sm2(2t+ 8) represent a progressive wave in C.G.S. units. What will be the phase
difference of any two particles separated by 16 cm?

2n ‘
@A) = | B) 2n
© = ®

After 80 years the amount of a radioactive element becomes %2 of its initial mass. Half-life of
this radioactive element is

(A) 16years (B) 8years

(C) 32years (D) 20 years

For a simple pendulum with length /; mass and charge of the bob are m
and g respectively. Now this simple pendulum was placed in a electric

field of field intensity E (acting upward), so the time period of the '\
pendulum will be T
/
)
27
A 4g+9E ®) N
m v O
m, q
C) 2m \/Z D)
© g

(35)
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19. Work done due to displacement of a unit charge by an amount 7 =2; -2 +% ina electric field
of field intensity E =27 +3]+2£ is
@A 11 ®) 10
(©) 05 D) 0

20. Power of a electric bulb with rating 100W - 220 V connected in a 176 V power source will be
(A) 64 W B) 100 W
<€) 176 W (D) 220 W

21. Classify the object having relative magnetic permeability 0.9998
(A) Ferromagnetic (B) Diamagnetic
(C) Paramagnetic (D) None

22. Equation of a alternating current is 7 = 6sin 3147. The rm.s value of the current will be
(A) 424 unit . (B) 6unit
(C) 6\2unit (D) 3unit

23. Work function of a metal having threshold wave length 6600 A is
(A) 3.0eV B) 1.5¢V
(C) 1.875eV (D) 5.0eV

24. Magnetic moment of a coil having cross-sectional area 4, numbers of turns 7 and current flows
through the coil #; will be
(A) ndi* ®B) id/n
©) i4 D) nia

25. An electron of a Hydrogen atom rotates in a circular orbit of radius 0.5 A with uniform speed
2 x 109 m/s. So the magnetic field intensity in the centre of the orbit is
(A) 12.8T B) 13.8T
(C) 11.8T D) 182T

26. A metal wire of length / was driven perpendicularly with velocity v in a magnetic field with field
intensity B. Induced electromotive force in the wire is
(A) Bl ®) B’
(C) Bl/v (D) Blv

JEN P&C ( 6 )
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27.

28.

29,

30.

3L

32.

33.

34.

Equivalent resistance in between point 4 and B in the given
circuit will be
30 %
(A) 36 Q B) 4O
© 12 0 D) 9 O A 2 B
120
A four times magnified image was formed by a spherical mirror for the two object distances either

9 ¢m or 16 cm. Focal length of the mirror is

(A) 12¢cm (B) -12cm
(©) 21em D) 21cm

Refractive indices of the glass and water are 3/2 and 4/3 respectively. If velocity of light in water
is 2.25 % 10® m/s then the velocity of light in glass will be

(A) 2.25 x 108m/s B) 3 x 108m/s
(C) 2 x 108 m/s : D) 2.5 x 108m/s

Radius of curvature of the curved surface of a lens (shown in figure)

is 20 cm and the refractive index of the lens medium is 1.5. Focal
length of the lens is

__,/j
(A) 40 cm (B) —40cm | \]

(C) 20cm (D) 10em

At what temperature the velocity of sound in air will 1% more than the velocity of sound at
temperature 27 °C ? )

(A) 43°C B) 30°C
(C) 35°C ‘ (D) 33°C

Red shift of the stars indicate that the star

(A) movestowards the Earth (B) moves away from the Earth
(C) remain fixed (D) None

Fundamental frequency of a closed pipe is 412 Hz. Fundamental frequency of a open pipe with
the same length as closed pipe will be A

(A) 412Hz (B) 206 Hz
(C) 824Hz (D) 103 Hz

Figure shows the p - V diagram of a isothermal process for two fixed
ten peratures T} and 7). Relation between T, and T, 5 1s

R

o©

&) T,<T, ®) 5,=T,
© 5>7, (D) None

V —p

(7)
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35. Acceleration due to gravity in a planet having same shape compared to the Earth but two times
greater density than earth will be (acceleration due to gravity in earth surface is 9.8 m/s?)
(A) 19.6 m/s? B) 9.8 m/s?
(C) 0mys? (D) 4.9 m/s?
36. Binary equivalent of the decimal number (23),, is
(A) (10011), B) (11011),
(©) (10111), D) (11110),
37. Identify the Gate formed by a combination of some gates as -
shown in figure A \
(A) NOR ' AND {>o Y
) ® " _/
(C) XOR (D) NAND
38. Electric potential at a distance 10 cm from the midpoint on a perpendicular bisector of a electric
dipole will be
(A) 10esu B) 20esu
© 0 (D) None
39. Capacitance of a parallel plate capacitor increases three times when the air medium in between
the capacitor was replaced by oil. Dielectric constant of the oil is—
(A) 173 B) 3
©) 9 (D) None
40. SI unit of electric flux is
(A) Vm ®B) V/m
(C) V4 D) Am
41. A man cannot see the distanced object clearly beyond the distance 60 cm. Power of the spectacle
used by the man is
(A) 1.66D ' B) 2.0D
(C) 2.0D (D) -1.66 D
42. Shunt is connected in a parallel combination with a galvanometer of resistance 250 Q. For what
value of shunt, current passes through the galvanometer becomes '11_1 times of the total current?
(A) 25 Q B) 50 O
(C) 25/11 Q D) 125 Q
JEN P&C ( 8 )
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43.

44.

45.

46.

47.

48.

(C) proportional to —,}7 (D) proportional to T

An object moves with velocity 7 along the principal axis of a convex lens. The velocity of the
image will be (m - linear magnification)

(A) mpP (B) m?p
(O D) mPp?
Figure shows the force-displacement graph. Work done by an SOp
object to cover first 30 m distance will be T i 2

Z 30| i
(A) 2007 (B) 400 S 20|
(C) 1007 (D) 300 T, SN 0 S

10 20 30 40 350
Displacement (m) —3»

In case of continuous X ray the value of the lowest wavelength will be

A ch - g _ chV
()Vez B) p
o che
© 7 ®

After applying a constant force on an object of mass m initially at rest traversed a fixed distance.
The velocity of the object is

(A) proportional to m (B) proportional to /m

1

Shearing strain can be expressed by
(A) angle of shear (B) angle oftorsion

(C) increased area (D) reduced volume

Two circular thin plates of radius 3 ¢m and 4 cm respectively are kept at same depth in a liquid.
The ratio of the thrust applied on the plate by the liquid is

(A) 16:9 B) 9:16
(C) 3:4 D) 4:3

(9)
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49. If salt is added to water then the freezing point of water changes from 0°C to
(A) 3°C (B) greater than 0°C
(C) 0°C (D) less than 0°C

50. Figure shows a wave. Points which have same

phases are g A B E
(&) AE (B) A,B :
©) C,D D) B,E & '

CHEMISTRY
(English Version)
Each question carries 1 mark

Full Marks: 50

51. Boyle’s law is applicable in
(A) Isochoric process (B) Isothermal process

(C) Isobaric process (D) Isotonic process

52. Aqueous solution of ammonium chloride will be
(A) Acidic (B) Neutral
(C) Basic (D) Amphoteric

53. Water gas is

(A) CO+H, B) CO+N,
() CO+CO, +CH, (D) CO, + N,
¢ 54. Which is the correct IUPAC name for (CH,),CHCHO?
C(A) Methyl propanone : (B) 2.2-Dimethyl ethanal
(C) Butanone (D) 2-Methyl propanal

55. Which of the following compounds is a liquid at normal temperature and pressure?

(A) Eﬂlylene (B) Methane
(C) Acetylene (D) Benzene
JEN P&C (10 )
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. Which is the strongest acid?

(A) HCIO (B) HCIO,
(C) HCIO, D) HCIO,

57. Which of the following is a natural polymer?
(A) Polythene (B) PVC
(©) Cellulose (D) Nylon6,6
58. The sum of mole fractions of components of a solution is equal to
(A) 0 ® 1
(C) 100 D) 200
59. Anisole can be prepared by the action of methyl iodide on sodium phenoxide. The reaction is
called
(A) Wurtzreaction : (B) Kolbe Synthesis
(C) Reimer Tiemann reaction (D) Williamson’s reaction
60. Which one of the following gases is liberated when methanol is treated with ethyl magnesium
iodide?
(A) Ethane (B) Methane
(C) Propane (D) Butane
61. Which of the following compounds is responsible for the depletion of ozone layer?
(A) Methane (B) Chlorofluorocarbon
(C) Carbon dioxide (D) Ethylene
62. Which of the following shows both the oxidizing and reducing property?
(A) H,S B) SO,
(©) SO, D) H,80,
63. Which of the following produces H,0, on treatment with dilute acid?
(A) PbO, (B) Na,0,
(C) MnO, (D) TiO,
64. In which reaction, K< K. 7?7
[Reactants and products are all gases]
(A) 2HI = H, +1, (B) 280, + 0, = 280,
(©) N;0, = 2NO, (D) N, +0, = 2NO
JEN P&C ( 11 )
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65. An unknown compound on ozonolysis gives acetaldehyde and benzophenone. The compound is
(A) 1,2-diphenylhexene (B) 1,2-diphenylpropene
(C) 2-phenyl-2-hexene D) 1, 1-diphenylpropene

66. Which of the following will react with Tollen’s reagent?
(A) Ethylacetate (B) Ethanol
(C) Formicacid (D) Aceticacid

67. Which is a tribasic acid?
(A) H;PO, (B) H,PO,
(C) H,PO, (D) HPO,

68. Aluminium carbide reacts with boiling water to produce
(A) Acetylene (B) Ethane
(C) Butane (D) Methane

69. In presence of énhydrous aluminium trichloride the reaction between acetic anhydride and benzene

produces
(A) Ethyl phenyl ketone (B) Phenyl acetic acid
(C) Acetophenone (D) Benzophenone.

70. The relation between molar gas constant (R) and the two heat capacities (C, Cy) is
A) C,xCy =R B) C,-Cy =R
€ C,/Cy =R D) C,+C, =R

71. When a system undergoing a series of operations is restored to its initial state at the end, the
process is known as

(A) Reversible process (B) Irreversible process
(C) Cyclic process (D) None of these

72. How many metamers are possible by the ether having molecular formula C.H,0 ?

(A) 2 ®) 4
© 5 D) 8
73. Vitamin C is
(A) Citric acid (B) Lacticacid
(C) Ascorbicacid (D) Tartaric acid
JEN P&C ( 12 )
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80.

81.

82.

. Which nitrate salt on strong heating gives a metal?

Fan

76.

77.

78.

79.

(A) AgNO; (B) AI(NOy),

(C) Pb (NO,), D) Cu(NOy),

Which of the following emulsions has the lowest viscosity?

(A) Butter (B) Coldcream

(C) Codliveroil (D) Milk

Reduction of 2-butanone will produce butane in one step by

(A) Wolf-Kishner reduction (B) Clemmensen reduction
{C) Rosenmund reduction (D) None ofthese

The functional group(s) present in salicylic acid is

(A) -OH (B) -COOH

(C) -CHO & -COOH (D) ~COOH & ~OH
‘Brown ring test’ is performed for the identification of

(A) Nitrate (B) Bromide

(C) Sulphide (D) Iron

The half-life of a radioactive element is 140 days. After 560 days, how much of 1 gm of that

element will remain?
(A) 4 gm B) 1gm
©) £ gm D) 3 gm

Which of the following is the ‘Oil of Winter Green’?

(A) Methyl Salicylate (B) Benzoicacid
(C) Nitrobenzene : (D) Aniline

Which of the following is known as Jaughing gas*?
(A) NO (B) N,0
(©) NO, (D) N,0O,

A reaction involving two different reactants can never be
(A) Unimolecular reaction (B) First orderreaction

(C) Second order reaction (D) Bimolecular reaction

:
gcollegedunlas
— - I __ P India’s largest Student Review Platform




83. Conductance is expressed in terms of
(A) ohm/m (B) m/ohm
(C) mho/m (D) mho
84. Which of the following is Epsom salt?
(A) MgSO,, TH,0 (B) ZnSO,, 7TH,0
(C) CuSO,, 5H,0 (D) Na,SO,, 10H,0
85. Which carbocation is the most stable?
(A) CH,CH; (B) (CH,),CH"
(C) CH; (D) (CHy), C*
86. The oxidation number of P in PO} is
(A) +5 B) 0
(C) +3 D) +6
87. Which of following metals is the most abundant on Earth’s crust?
(A) Al B) Ca
€y Mg (D) Na
88. But-2-yne when treated with dilute H,SO, in presence of HgSO, will produce
(A) But-2-ol (B) Butanone |
(C) Butanal (D) Butanoic acid
89. Sugar present in DNA is
(A) Glucose (B) Ribose
(C) Deoxy-ribose (D) Arabinose
90. A definite amount of current produces 0.504 gm of hydrogen gas (H,) in time ¢ The amount of
oxygen (O,) that will be liberated by the same amount of current in the same time ¢ is
(A) 4gm (B) 8gm
(C) 16gm (D) 32gm
91. The equivalent weight of K,Cr,0, in acidic medium is expressed in terms of its molecular weight
(M) as
(A) M/3 : B) M/4
(C) M/6 D) M/7
JEN P&C (14 )
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93.

94.

DS,

96.

97.

98.

99.

JEN P&C

. Which of the following equation is correct according to Planck’s quantum theory?

(A) E=hv/c B) E=he/v
©) E=n/c DY E=he/n
The product formed by the reaction of HCN and acetaldehyde when hydrolyzed will produce

(A) Aceticacid (B) Propeonic acid
(C) Lacticacid "~ (D) Fumericacid

An amphoteric oxide is
(A) ZnO (B) Na,0
© 80, D) B,0,

Change of hybridization of carbons in the reaction CH, —» CH,

(A) sp® — sp B) sp’ — sp?

(€) sp — sp’ ‘ D) sp — sp’

Protein is

(A) Poly amide compound (B) Poly ester compound
(C©) Polyhydroxy compound (D) Polynitro compound

Arrange the following compounds in ascending order of acidity.

CH,COOH, MeOCH,COOH, CF,COOH, Me,CHCOOH

I 11 I v
(A) [<IV< <1l B) <1V <I<II
(C) IV<I<II<II D) IV<I<II<II

Which of the following equations indicate the de Broglie relation correctly?
(A) p=h/my ®B) A=h/mv

©) A=h/mp D) am=v/p

Which of the following may be used in the preparation of salt bridge?

(A) KCI B) AgCl
(C) NaCl (D) HCl
( 15)
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©) 176 W D) 220 W P=v.l
21. 43 AL (FrEw (Sl 0.9998 | @ B @ W o VY = PP(\_)
(A) SECHTESF (Ferromagnetic) }QB) f$ar=51%% (Diamagnetic) B — /\/“
(C) *RIT5T= (Paramagnetic) (D) IO T - A U0
22. @36 7Tl 2RItz ANFAY [ = 6sin 3147 | LATNAR r.m.s I TR | R 5
. _ e
(A) 4.24unit B) 6unit - %f
%
(C) 62 unit (D) 3 unit P = to +\k
23. 3% 49T pN ©FF WY 6600 A | €3 4 I ST
_ (A 3.0eV B) 1.5eV V// VY s
(C) 1.875eV (D) 5.0eV ¥ Wf\
24, «F% PRI CFGTA 4, ARPRY 1 GR GTS LA | TE FER (BT AN VA \%
(A) ndi® B) id/n } a%
©) i D) nid AR (M\d L\
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25. QRGNS 2[NS 930 ZEFET 0.5 A IPHT JEFER AL IR9T 2 x 109 m/s (08! AR
FFALT (T (D1 CF9 ARET A ,
(A) 128T (B) 13.8T .
(C) 11.8T D) 182T
26. &I | G ST B ARG (51FF CFGEd AN v @0 Sl T G WY bl
ICR I T
\ 3
(A) BI%v (B) B’ Re s |
(C) Bl/v (D) Blv o 0 A
% P
’ J
27. 4ve 64K 4 ¢ B [H W T K T
: 30 90
(A) 36 Q B 4 Q
©) 12 Q ' DoQ A W B
’ 12Q
28. 4 ol et A @B <g Witz) T/ YFE 9 cm WA 16 cm TCE TSACKCAR 4 @
e afeRm e o3| wltem e ol =& 05
. .
(A) 12cm B) —12cm Vﬁf/ \
©
(C) 21em (D) —21cm a g
29. F6 @R TE ARSTAT JATCH 3/2 R 4/3 | G SER (@9 2.25 x 108 m/s 20 G ST
@ TR
(A) 2.25 x 108m/s B) 3 x 108m/s S RO _
® W~ ’
(C) 2 x 108 m/s (D) 2.5 x 103m/s @y‘ :
o~
30. 578 (A (F07 I@OGTR IPTE 20 cm @R (AR SAMICTE %/;,
dforiag 1.5 T T (T i &1 | /] 7
(A) 40cm (B) 40cm »
(C) 20cm (D) 10cm \I -
31, (I GO LS MW (@9 27 °C TG M (@R G 1% & 7 2
(A) 43 °C B) 30°C ’é)
C) 35°C D) 33°C Ue Sy
© 3 5 Y N ) =
B
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TN R

{

AR T o 6
NIRRT e w2
32. e e Rpifs (e & q@en 3wy o e e V’V
NNV
(A) =T iz SFIE By AR (A I A AT 2
(C) 98 TR AT (D) BT @§ A
33. G GFI (U T T G5 FIF 412 Hz| O T @ 7 799 cww‘:ﬁw 1L
(A) 412Hz (B) 206 Hz \,//6\7‘ Gy’ P
(C) 824 Hz | (D) 103 Hz .

34. forg sz efEwm p - V ey oRie T@E T, ¢ T, Sweew

& | T, € T, €7 g FoAF 2 1
p <M
A) T <T, | ® =7, - QL "}

©) T,>T, ) R N,

vV —

35. wwwﬁm@quwwmwﬁmwaf@amzw@azqwr—am’@ A\X
G WA 23 ’

(A) 19.6 m/s? B) 9.8 m/s?
(C) 0m/s? (D) 4.9m/s? -

36. (23),, TR RN AU A P =
(A) (10011), (B) (11011),
(C) (10111), D) (11110),

37. Bt (oiha R @R (o5 e R 2
(A) NOR (B) AND A

(C) XOR (D) NAND Bt

r 38, o3 ofer famR STEomRITS @9 6ol 10 cm R (I Rgre ©fYe et wW

%,A) 10 esu : (B) 20esu
(€) 0 (D) @HIZ

39. LS A BB TS SAS LTHF (S0 (BRI (RFCTH A [omae T | (SER 2RIAPRes
4T T

(A) 1/3 B 3
©) 9 (, (D) @GR T

JEN P&C ( 21 )




4

Zuwi%_(m Sl @ 7 N ) ?\%

AN (>/
(A) Vm B) Vim x5 7.*'9Q< i
(©) V/4 D) Am & %
41. 936 & 60 cm S @ HITF I B (O AW A | ghETOE (T B R S
A O A L
(A) 1.66D ®) 2.0D Ve 7>
(C) 22.0D (D) -1.66D
42. 250Q U STIFTSIHIRGIER NI F© AE AT L& FE syeteiibiems wy e
RIZ ET MRS 1 M A ?
(A) 25 Q B) 50 Q
(©) 25/11 Q D) 12.5 O | gk
43. @3 IWA TGe (AR U S IART P (@A ey AfSReTa @ @ (m - 1)
(A) mP (B) m?P
©) P (D) mP?
44. m_ W—W@t Cam CWQ“’C:{T ml ﬁw 30 m m. W 50 ...... ...... ......
TACS I TR TR AR T40......ﬁ ...... SN
g 30 S
é 20 .........................
(A) 2007J % (B) 4007 10]-.... . ......
(C) 100] (D) 3007 020 30 30 50
Displacement (m) —p>
45. el X afm w&NE swmmeR I
o 4
A) 7.2 ® —
ch che
© 7 D)
46, @3 B WER IR T m @ Golb @ B o (A @ v we wferw @
TEva sifea
(A) m <3 FANATES ‘ B) Jm 3 T
(©) L gz migsifess ®) I3 uaamvnr—as
JEN P&C (22)
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47, F [Pl e o7 | N
(A) I (I 7= B) 5T (o qA
(C) gzt g =il (D) SIS T =il

48. w5 #ifoeTl (AP SIFFeT TPME TG 3 cm GR 4 cm | SIER Y GG G52 SO

AU AU SR SR SATS TR -
(A) 16:9 ®) 9:16
(C) 3:4 D) 4:3

49, T B% 0°C | otei@ Wiy g 2 o wdige $a0e g fRuE 2@
(A) 3°C (B) 0°C S[rofs (IR
(C) 0°C D) 0°C ST I

50. 50a SB! TACE LI 1 QORI AR

Rl el 14 B 7\ ;

(A) A.E (B) A,B % | k. (T —>
€ C.D ©O) B,E
_Dﬂi,,rﬁ<
0{/\/
\ 7i
P
CHEMISTRY w7
o~
(Bengali Version) < / !
Each question carries 1 mark PV K ‘ \{f‘
Full Marks : 50 ‘v‘
51, <A G COW, CRE AT 2
(A) FrEnzTei &f& (Isochoric process) (B) e &f&wl (Isothermal process)
(C) 1% &f&g (Isobaric process) (D) WEFIGIRS af@ ( Isotonic process)
52. ST FIRIZT 93 Tl 99 2
/(A) RIS B) &= o
ﬂ(c) R D) Tl \XC‘} < W
/ ’ ({)\/‘\ <2 £ \M
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53. GG A (Water gas) Z& ) *GHO
Cha— G
(&) CO+H, B) CO+N, > on 5
(C) CO +CO, + CH, D) CO, + N,
54. (CH,),CHCHO ¢33 #1f3% IUPAC i % »
(A) F=gs censiiew B) 2,2- T2 NAZe Fwyr
(C) REBIAR _AD) 2-RAEe (i
55. FRITA 1A @ wleANaR AHA I (TG wee 2 \ A7
(A) 2lfem B) fras
(©) i (D) (e
6. oS S B ? al
(A) HCIO ®) HCIO, \C/ @%«ﬁv
(C) HCIO, , . AD) HCIO, Om@i‘;” y
e f,
57. Tva @S AR “AFwE 2 0\3/%*
(A) ffeifas B) PVC D
(©) et (D) A 6, 6 OV o~ 2
58. G0 BRAER INF TAMHGTR (N SARE (mole fraction) B T3 A
~\q
) 0 AB) 1 Y
(C) 100 D) 200 c >
~
59. fge wEERe ¢ EfaN @ity «3 Rirn sReis tof 231 R @&
7 ) . /G/)‘A
(A) g &f&a (Wurtz reaction) Cx 0 %1
(B) (IR ATT (Kolbe Synthesis) C’))/\’\ S%q)))( < \
(C) w2z sl Rt (Reimer Tiemann reaction) G)‘)‘?)/ O\/ o
AD) T ferarpR Riferat (Williamson’s reaction)
o
60. AT IO WNACRT ¢ [NEH spenRerE Riean @ ol ot 7@
) T AB) fiem @,\é
(©) cams (D) REE o S
" . e3¢ AP
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61. MHa (TeielR TG @D STE T WD G R 2 /G/‘/ '
¢
@A) fres B) GFIAEETE
(C) IO TZE (D) ZRfm 0P vV’
62. 57 BT Wiel @ Reel Tow 4 R ¢ @Aw
A) H,S AB) SO L A
y W )
(©) SO; (D) H,S0,
' 9@ ., W
63. ToF (@G 1Y wibiees Aok R H,0, SeoF I 2 x%j\
¥
(4) PbO, AB) Na,0, <
() MnO, O To, (A ¥ ert, &Y
A \ 0O
64. (*W R, K< K 2 | C< /‘v
N W
e [iems ¢ Rigarers »mid i) @(/L) %) N
(A) 2HI = H,+]I _B) 250, + 0, <> 280 XL OF &
= M Th 2T YUy = 3 4’,3
(€) N,O, = 2NO, D) N, +0, = 2NO C)‘)\/L) \(\ E@‘é

65. < T®@© (&1 (@5 SETAIHHE T@ WHETET ¢ @EEFEE et @@ @eb

LG
| —= @)
(A) 1, 2-SiREa @R B L 2-uEREEE @iBE ﬂ’
(C) 2-Remizet -2- &f3m @7 1, 1-0i2 Reige califom Ce;k\s Cehs
A = >
66. @ @S Gre fRered W Riew 39963 2 W o
O S V< BN
(A) 2% PG B) A 1Ca¥ts T
| ; %c&\QW‘Q
“ey whgenbe D) Wﬁﬁﬁﬁ‘@ﬂﬁf@ ,/c;\i;&% .
67. R frmRE e 2 &2 e
L&) BP0, (B) H;PO, C\’H B &
(C) H,PO, (D) HPO, a1 g&,—@ mcztg
68. SyEfA IR ToT TER W [RiGw S 3@ ) \\A
@WwREE o @ c
(C) G «D) freem 2
\ i
)’/O/ T sy ke N
JEN P&C e Q_ B\ o
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69. Y A 52 @RIZren Ssi¥fere Wit sremRyitien e @ema R Sew
Y

(A) T Rz RoC ®) Fmizer b i ot )
(€) wTERR (D) UG S
‘ = akely
70. GOSN 9B &% (R) '@ SIRSRER (Cp, C,) TR T=4F0G 2o
A) C,xCy =R B) C,—-C, =R //,;\
(C) Cp/Cy =R @) Cp+Cy =R =

71. (@ BGOT (system) M IS0 4RI aferam :n&msi 0% 24P S=T (Initial State)
I, O (12 i I

(A) RS ﬁfﬂTﬂT (Reversible process) (B) SI°RITS sfferz
(©) v &ffeat (Cyclic process) D) &bE Oi i
. w7 C oD
72. CH,,0 W@ s K8 2w <3l (o Alewt I # o - c\b?)g
Ve c\>72/
(A) 2 - B4 U,
© 5 D) 8 e
73. TSOIRE C 2= 2
(A) &G oo ®) DB Wit s z) o P
(C) SR SnifiTe D) SRoIfs e N o ‘(@@@
74. (@ TIEE TR SROIR TE FAE SR 419 #heql TF 2 %
_(A) AgNO, (B) AINO,), 2% gj/b7 p
(C) Pb (NOy), (D) Cu(NO,), o g &F
75. v (@ IARPER (Emulsions) el (Viscosity) TR T 2 zé}\
(A) Tia | (B) @ &N (Cold cream) .
_{€) T fereig itz@ (Cod liver oil) (D) w4 :
76. 2-REHIEAN & 9% el [Kend w1 [ toft v [ifeal & &
(A) Serg-fmr Retad %B{ omaR R L O
(©) e W Rt (D) Boft CDE ”\7/ /”g
77. Fiferiglers wifite SRR T (Functional Group) &It S+ifgs @itz 4//
(A) ~OH (B) -COOH
(C) -CHO ¢ ~COOH _(D) -COOH ¢ -OH
JEN P&C (26 )
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78. (DA FIGPIT G AR T A T 7 2

_(A) TS B) E@WTS -
(C) AeTHIRE (D) =iaa
aﬁmﬁm T @iy 140 1 560 i o1 1 2 @ GReR 37 SIS A ?
(A) 4 am ®) 1 am Oqﬁﬁ
(©) L o O L am XA (ZCD@
16 B P :
\VAC 'i@ =
80. A (PG T OF CLHRAA 2 '~
) Frafza RS (B) @I wWiFE S
(C) LG D) wriffeE o2

81. 5T @G TN T (laughing gas) IR »ifdfoe 2 ’ ‘ O
(A) NO —B) N,0 o2 470//5 \»%/%
(C) NO, D) N0, N Tk

@73 - :& %Zt

82. 72 o7 Rieas mitela g wkafbe [ @G 2@ 1 2 °.j,.%ﬁ THLo

\(K) ae1e RfeFal (Unimolecular reaction)
(C) Taor @ Rl (Second order reaction)

83. AT do T W GBelE
(A) ohm/m
(C) mho/m

84. WEA (THL Q2PN H°F 2
) MgSO,, 7H,0
(C) CuSO,, 5H,0

85. (I FAMORAD F_ftorsl @ 2q ¢
(A) CH,CIL*
(C) CH,*

- 86. PO @ P-aq &ivd Y| 2
Y5
(©) +3

JEN P&C

(B) 2@ e (First order reaction)
(D) fewneifis it (Bimolecular reaction)

\
A
(B) m/ochm o -
D) mho Yoo
(B) ZnSO,, TH,0 P‘\\%P -
(D) Na,80,, 10H,0 .
_ 6/ \G‘ —ERX
A §
B) (CH,),CH" LN /! %
) (CH, C* P
n - 2% i Ly
- s =
T 7 —
®B) 0 gl o) Y
D) +6 Xyﬂ@/\\ﬂ~ﬂ
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87. Fefeilie arpefem wway RAS iR gy Row@ @ ¢

@ A ®) Ca oo e
© Mg (D) Na o 0T
88. HgSO, 95 B+fgfere =1y H,S0, 7% REs —2- wisy «a Rimmere @6 o= PO
(A) REs-3-u AB) REBIH \;@C/ g
(C) REBHw (D) REGIEE wiifo ch 2, N 50%
89. DNA (9 Goif¥s =Faifb 2= D
®) e ® T 7
© o - IRES (D) SRS

@aﬁﬁ%vﬁm—@mwosmgmmm(mwa—m@@iﬂﬁw—@a
ﬂﬁmrﬁﬁww@m@z)rm@? W SO A

@) 4gm B) 8¢gm
(©) 16gm (D) 32gm

91. fEFF WGT K,Cr,0, 99 WOFOR AW O ok Gere (M) N 2 31 A O
©l W , )

(A) MA3 ®) M4 N
N ZARY,
/(C)MI6 (D)M/7 Q‘\[// oo
PR e T

92. HICFA (HFDT ©F SRR Mo (< Tl 115 2 o /%;%

A) E=ho/c B) E=hc/v % . %
.

©) E=mn/c D) E=hc/\ -

| <5

WIHERRET ¢ HON 7 RiFmrars el sk 996t 1 @l Seol 3, ©f 51
(A) ST wpife B) ceifsrsfi e o
(C) = e D) Rremfesente ) OAW)
? .Y

94. «3% TS (amphoteric) STHIZT & ot \ ex R
(AY ZnO (B) Na,0 e @’&Zw@ -
C) SO B,O \ : RO
© 80, D) B,0, . @/\%3@\%}

95. C,H, —» C,H, «? Rfeailtre s waames Raéa g& 4 \
(A) sp* = sp | ®B) sp? — sp
€y sp — sp? D) sp —> sp?
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96. e 7=

_ L
() AFEIES T ® Pemmom 07
(©) “FriRef D) AFFERE! 4 Q%
97. A5 (Dotefei AfFToR @ SPHIE NS N T %’i:/
Y . 2=
CH,COOH,  MeOCH,COOH,  CF,COOH,  Me,CHCOOH A
I 1T 11 \Y | Cn
(A) I<IV < T <1I ®) D<IV<I<II |
(C) IV<I<II<II _AD) IV <I<I<II Y
98. Tox TR N2y @G AT de Broglie ToF ool e 2 %7 %;/:
TN
(A) p=h/mv B h=h/my K
©) A=h/mp D) vm=v/p e
: N7
99. 75 et (salt bridge) UGS FCS ANDHA (TG JI F @TS A 2 “‘T(\%/
(A) KCI (B) AgCl SR b
(C) NaCl (D) HC . . ~0 @/\{Q
100. 3R WATT @ SHTIFRR Rizrars @b 2 o
(A) 321Z W B) CaioiZa SifE .‘<‘_‘> ¢
(C) ©IZ-3AZ oIt (D) 2-SIRTA B CM2 B
: =
, g
% W B3 \\x/\‘f\%
. Sh//?\/v chvs O
. e W &G
cvr= e — oy, —CH 5
ES S
e
cp ¥ ®
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